
1.67 Super SV FSV Transitions 7 Gray ECP

Ë$$g:KÌ 1.67 T7 Gray AR -2.00 -0.00

Ë$$g:\Ì 1.67 T7 Gray AR -2.00 -0.25

Ë$$g:dÌ 1.67 T7 Gray AR -2.00 -0.50

Ë$$g:lÌ 1.67 T7 Gray AR -2.00 -0.75

Ë$$g:tÌ 1.67 T7 Gray AR -2.00 -1.00

Ë$$g:|Ì 1.67 T7 Gray AR -2.00 -1.25

Ë$$g;*Ì 1.67 T7 Gray AR -2.00 -1.50

Ë$$g;2Ì 1.67 T7 Gray AR -2.00 -1.75

Ë$$g;:Ì 1.67 T7 Gray AR -2.00 -2.00

Ë$$g;BÌ 1.67 T7 Gray AR -2.25 +0.00

Ë$$g;JÌ 1.67 T7 Gray AR -2.25 -0.25

Ë$$g;[Ì 1.67 T7 Gray AR -2.25 -0.50

Ë$$g;cÌ 1.67 T7 Gray AR -2.25 -0.75

Ë$$g;kÌ 1.67 T7 Gray AR -2.25 -1.00

Ë$$g;sÌ 1.67 T7 Gray AR -2.25 -1.25

Ë$$g;{Ì 1.67 T7 Gray AR -2.25 -1.50

Ë$$g<)Ì 1.67 T7 Gray AR -2.25 -1.75



Ë$$g<1Ì 1.67 T7 Gray AR -2.25 -2.00

Ë$$g<9Ì 1.67 T7 Gray AR -2.50 +0.00

Ë$$g<AÌ 1.67 T7 Gray AR -2.50 -0.25

Ë$$g<IÌ 1.67 T7 Gray AR -2.50 -0.50

Ë$$g<ZÌ 1.67 T7 Gray AR -2.50 -0.75

Ë$$g<bÌ 1.67 T7 Gray AR -2.50 -1.00

Ë$$g<jÌ 1.67 T7 Gray AR -2.50 -1.25

Ë$$g<rÌ 1.67 T7 Gray AR -2.50 -1.50

Ë$$g<ÊÌ 1.67 T7 Gray AR -2.50 -1.75

Ë$$g=(Ì 1.67 T7 Gray AR -2.50 -2.00

Ë$$g=0Ì 1.67 T7 Gray AR -2.75 +0.00

Ë$$g=8Ì 1.67 T7 Gray AR -2.75 -0.25

Ë$$g=@Ì 1.67 T7 Gray AR -2.75 -0.50

Ë$$g=RÌ 1.67 T7 Gray AR -2.75 -0.75

Ë$$g=YÌ 1.67 T7 Gray AR -2.75 -1.00

Ë$$g=aÌ 1.67 T7 Gray AR -2.75 -1.25

Ë$$g=iÌ 1.67 T7 Gray AR -2.75 -1.50

Ë$$g=qÌ 1.67 T7 Gray AR -2.75 -1.75



Ë$$g=ÉÌ 1.67 T7 Gray AR -2.75 -2.00

Ë$$g>'Ì 1.67 T7 Gray AR -3.00 +0.00

Ë$$g>/Ì 1.67 T7 Gray AR -3.00 -0.25

Ë$$g>7Ì 1.67 T7 Gray AR -3.00 -0.50

Ë$$g>?Ì 1.67 T7 Gray AR -3.00 -0.75

Ë$$g>QÌ 1.67 T7 Gray AR -3.00 -1.00

Ë$$g>XÌ 1.67 T7 Gray AR -3.00 -1.25

Ë$$g>`Ì 1.67 T7 Gray AR -3.00 -1.50

Ë$$g>hÌ 1.67 T7 Gray AR -3.00 -1.75

Ë$$g>zÌ 1.67 T7 Gray AR -3.00 -2.00

Ë$$g>ÈÌ 1.67 T7 Gray AR -3.25 +0.00

Ë$$g?$Ì 1.67 T7 Gray AR -3.25 -0.25

Ë$$g?,Ì 1.67 T7 Gray AR -3.25 -0.50

Ë$$g?>Ì 1.67 T7 Gray AR -3.25 -0.75

Ë$$g?FÌ 1.67 T7 Gray AR -3.25 -1.00

Ë$$g?NÌ 1.67 T7 Gray AR -3.25 -1.25

Ë$$g?UÌ 1.67 T7 Gray AR -3.25 -1.50

Ë$$g?]Ì 1.67 T7 Gray AR -3.25 -1.75



Ë$$g?oÌ 1.67 T7 Gray AR -3.25 -2.00

Ë$$g?wÌ 1.67 T7 Gray AR -3.50 +0.00

Ë$$g?ÅÌ 1.67 T7 Gray AR -3.50 -0.25

Ë$$g@#Ì 1.67 T7 Gray AR -3.50 -0.50

Ë$$g@+Ì 1.67 T7 Gray AR -3.50 -0.75

Ë$$g@=Ì 1.67 T7 Gray AR -3.50 -1.00

Ë$$g@EÌ 1.67 T7 Gray AR -3.50 -1.25

Ë$$g@MÌ 1.67 T7 Gray AR -3.50 -1.50

Ë$$g@TÌ 1.67 T7 Gray AR -3.50 -1.75

Ë$$g@fÌ 1.67 T7 Gray AR -3.50 -2.00

Ë$$g@nÌ 1.67 T7 Gray AR -3.75 +0.00

Ë$$g@vÌ 1.67 T7 Gray AR -3.75 -0.25

Ë$$g@~Ì 1.67 T7 Gray AR -3.75 -0.50

Ë$$gA"Ì 1.67 T7 Gray AR -3.75 -0.75

Ë$$gA4Ì 1.67 T7 Gray AR -3.75 -1.00

Ë$$gA<Ì 1.67 T7 Gray AR -3.75 -1.25

Ë$$gADÌ 1.67 T7 Gray AR -3.75 -1.50

Ë$$gALÌ 1.67 T7 Gray AR -3.75 -1.75



Ë$$gASÌ 1.67 T7 Gray AR -3.75 -2.00

Ë$$gAeÌ 1.67 T7 Gray AR -4.00 +0.00

Ë$$gAmÌ 1.67 T7 Gray AR -4.00 -0.25

Ë$$gAuÌ 1.67 T7 Gray AR -4.00 -0.50

Ë$$gA}Ì 1.67 T7 Gray AR -4.00 -0.75

Ë$$gB!Ì 1.67 T7 Gray AR -4.00 -1.00

Ë$$gB3Ì 1.67 T7 Gray AR -4.00 -1.25

Ë$$gB;Ì 1.67 T7 Gray AR -4.00 -1.50

Ë$$gBCÌ 1.67 T7 Gray AR -4.00 -1.75

Ë$$gBKÌ 1.67 T7 Gray AR -4.00 -2.00

Ë$$gB\Ì 1.67 T7 Gray AR -4.25 +0.00

Ë$$gBdÌ 1.67 T7 Gray AR -4.25 -0.25

Ë$$gBlÌ 1.67 T7 Gray AR -4.25 -0.50

Ë$$gBtÌ 1.67 T7 Gray AR -4.25 -0.75

Ë$$gB|Ì 1.67 T7 Gray AR -4.25 -1.00

Ë$$gC*Ì 1.67 T7 Gray AR -4.25 -1.25

Ë$$gC2Ì 1.67 T7 Gray AR -4.25 -1.50

Ë$$gC:Ì 1.67 T7 Gray AR -4.25 -1.75



Ë$$gCBÌ 1.67 T7 Gray AR -4.25 -2.00

Ë$$gCJÌ 1.67 T7 Gray AR -4.50 +0.00

Ë$$gC[Ì 1.67 T7 Gray AR -4.50 -0.25

Ë$$gCcÌ 1.67 T7 Gray AR -4.50 -0.50

Ë$$gCkÌ 1.67 T7 Gray AR -4.50 -0.75

Ë$$gCsÌ 1.67 T7 Gray AR -4.50 -1.00

Ë$$gC{Ì 1.67 T7 Gray AR -4.50 -1.25

Ë$$gD)Ì 1.67 T7 Gray AR -4.50 -1.50

Ë$$gD1Ì 1.67 T7 Gray AR -4.50 -1.75

Ë$$gD9Ì 1.67 T7 Gray AR -4.50 -2.00

Ë$$gDAÌ 1.67 T7 Gray AR -4.75 +0.00

Ë$$gDIÌ 1.67 T7 Gray AR -4.75 -0.25

Ë$$gDZÌ 1.67 T7 Gray AR -4.75 -0.50

Ë$$gDbÌ 1.67 T7 Gray AR -4.75 -0.75

Ë$$gDjÌ 1.67 T7 Gray AR -4.75 -1.00

Ë$$gDrÌ 1.67 T7 Gray AR -4.75 -1.25

Ë$$gDÊÌ 1.67 T7 Gray AR -4.75 -1.50

Ë$$gE(Ì 1.67 T7 Gray AR -4.75 -1.75



Ë$$gE0Ì 1.67 T7 Gray AR -4.75 -2.00

Ë$$gE8Ì 1.67 T7 Gray AR -5.00 +0.00

Ë$$gE@Ì 1.67 T7 Gray AR -5.00 -0.25

Ë$$gERÌ 1.67 T7 Gray AR -5.00 -0.50

Ë$$gEYÌ 1.67 T7 Gray AR -5.00 -0.75

Ë$$gEaÌ 1.67 T7 Gray AR -5.00 -1.00

Ë$$gEiÌ 1.67 T7 Gray AR -5.00 -1.25

Ë$$gEqÌ 1.67 T7 Gray AR -5.00 -1.50

Ë$$gEÉÌ 1.67 T7 Gray AR -5.00 -1.75

Ë$$gF'Ì 1.67 T7 Gray AR -5.00 -2.00

Ë$$gF/Ì 1.67 T7 Gray AR -5.25 +0.00

Ë$$gF7Ì 1.67 T7 Gray AR -5.25 -0.25

Ë$$gF?Ì 1.67 T7 Gray AR -5.25 -0.50

Ë$$gFQÌ 1.67 T7 Gray AR -5.25 -0.75

Ë$$gFXÌ 1.67 T7 Gray AR -5.25 -1.00

Ë$$gF`Ì 1.67 T7 Gray AR -5.25 -1.25

Ë$$gFhÌ 1.67 T7 Gray AR -5.25 -1.50

Ë$$gFzÌ 1.67 T7 Gray AR -5.25 -1.75



Ë$$gFÈÌ 1.67 T7 Gray AR -5.25 -2.00

Ë$$gG&Ì 1.67 T7 Gray AR -5.50 +0.00

Ë$$gG.Ì 1.67 T7 Gray AR -5.50 -0.25

Ë$$gG6Ì 1.67 T7 Gray AR -5.50 -0.50

Ë$$gGHÌ 1.67 T7 Gray AR -5.50 -0.75

Ë$$gGPÌ 1.67 T7 Gray AR -5.50 -1.00

Ë$$gGWÌ 1.67 T7 Gray AR -5.50 -1.25

Ë$$gG_Ì 1.67 T7 Gray AR -5.50 -1.50

Ë$$gGgÌ 1.67 T7 Gray AR -5.50 -1.75

Ë$$gGyÌ 1.67 T7 Gray AR -5.50 -2.00

Ë$$gGÇÌ 1.67 T7 Gray AR -5.75 +0.00

Ë$$gH%Ì 1.67 T7 Gray AR -5.75 -0.25

Ë$$gH-Ì 1.67 T7 Gray AR -5.75 -0.50

Ë$$gH5Ì 1.67 T7 Gray AR -5.75 -0.75

Ë$$gHGÌ 1.67 T7 Gray AR -5.75 -1.00

Ë$$gHOÌ 1.67 T7 Gray AR -5.75 -1.25

Ë$$gHVÌ 1.67 T7 Gray AR -5.75 -1.50

Ë$$gH^Ì 1.67 T7 Gray AR -5.75 -1.75



Ë$$gHpÌ 1.67 T7 Gray AR -5.75 -2.00

Ë$$gHxÌ 1.67 T7 Gray AR -6.00 +0.00

Ë$$gHÆÌ 1.67 T7 Gray AR -6.00 -0.25

Ë$$gI"Ì 1.67 T7 Gray AR -6.00 -0.50

Ë$$gI4Ì 1.67 T7 Gray AR -6.00 -0.75

Ë$$gI<Ì 1.67 T7 Gray AR -6.00 -1.00

Ë$$gIDÌ 1.67 T7 Gray AR -6.00 -1.25

Ë$$gILÌ 1.67 T7 Gray AR -6.00 -1.50

Ë$$gISÌ 1.67 T7 Gray AR -6.00 -1.75

Ë$$gIeÌ 1.67 T7 Gray AR -6.00 -2.00

Ë$$gImÌ 1.67 T7 Gray AR -6.25 +0.00

Ë$$gIuÌ 1.67 T7 Gray AR -6.25 -0.25

Ë$$gI}Ì 1.67 T7 Gray AR -6.25 -0.50

Ë$$gJ!Ì 1.67 T7 Gray AR -6.25 -0.75

Ë$$gJ3Ì 1.67 T7 Gray AR -6.25 -1.00

Ë$$gJ;Ì 1.67 T7 Gray AR -6.25 -1.25

Ë$$gJCÌ 1.67 T7 Gray AR -6.25 -1.50

Ë$$gJKÌ 1.67 T7 Gray AR -6.25 -1.75



Ë$$gJ\Ì 1.67 T7 Gray AR -6.25 -2.00

Ë$$gJdÌ 1.67 T7 Gray AR -6.50 +0.00

Ë$$gJlÌ 1.67 T7 Gray AR -6.50 -0.25

Ë$$gJtÌ 1.67 T7 Gray AR -6.50 -0.50

Ë$$gJ|Ì 1.67 T7 Gray AR -6.50 -0.75

Ë$$gK*Ì 1.67 T7 Gray AR -6.50 -1.00

Ë$$gK2Ì 1.67 T7 Gray AR -6.50 -1.25

Ë$$gK:Ì 1.67 T7 Gray AR -6.50 -1.50

Ë$$gKBÌ 1.67 T7 Gray AR -6.50 -1.75

Ë$$gKJÌ 1.67 T7 Gray AR -6.50 -2.00

Ë$$gK[Ì 1.67 T7 Gray AR -6.75 +0.00

Ë$$gKcÌ 1.67 T7 Gray AR -6.75 -0.25

Ë$$gKkÌ 1.67 T7 Gray AR -6.75 -0.50

Ë$$gKsÌ 1.67 T7 Gray AR -6.75 -0.75

Ë$$gK{Ì 1.67 T7 Gray AR -6.75 -1.00

Ë$$gL)Ì 1.67 T7 Gray AR -6.75 -1.25

Ë$$gL1Ì 1.67 T7 Gray AR -6.75 -1.50

Ë$$gL9Ì 1.67 T7 Gray AR -6.75 -1.75



Ë$$gLAÌ 1.67 T7 Gray AR -6.75 -2.00

Ë$$gLIÌ 1.67 T7 Gray AR -7.00 +0.00

Ë$$gLZÌ 1.67 T7 Gray AR -7.00 -0.25

Ë$$gLbÌ 1.67 T7 Gray AR -7.00 -0.50

Ë$$gLjÌ 1.67 T7 Gray AR -7.00 -0.75

Ë$$gLrÌ 1.67 T7 Gray AR -7.00 -1.00

Ë$$gLÊÌ 1.67 T7 Gray AR -7.00 -1.25

Ë$$gM(Ì 1.67 T7 Gray AR -7.00 -1.50

Ë$$gM0Ì 1.67 T7 Gray AR -7.00 -1.75

Ë$$gM8Ì 1.67 T7 Gray AR -7.00 -2.00

Ë$$gM@Ì 1.67 T7 Gray AR -7.25 +0.00

Ë$$gMRÌ 1.67 T7 Gray AR -7.25 -0.25

Ë$$gMYÌ 1.67 T7 Gray AR -7.25 -0.50

Ë$$gMaÌ 1.67 T7 Gray AR -7.25 -0.75

Ë$$gMiÌ 1.67 T7 Gray AR -7.25 -1.00

Ë$$gMqÌ 1.67 T7 Gray AR -7.25 -1.25

Ë$$gMÉÌ 1.67 T7 Gray AR -7.25 -1.50

Ë$$gN'Ì 1.67 T7 Gray AR -7.25 -1.75



Ë$$gN/Ì 1.67 T7 Gray AR -7.25 -2.00

Ë$$gN7Ì 1.67 T7 Gray AR -7.50 +0.00

Ë$$gN?Ì 1.67 T7 Gray AR -7.50 -0.25

Ë$$gNQÌ 1.67 T7 Gray AR -7.50 -0.50

Ë$$gNXÌ 1.67 T7 Gray AR -7.50 -0.75

Ë$$gN`Ì 1.67 T7 Gray AR -7.50 -1.00

Ë$$gNhÌ 1.67 T7 Gray AR -7.50 -1.25

Ë$$gNzÌ 1.67 T7 Gray AR -7.50 -1.50

Ë$$gNÈÌ 1.67 T7 Gray AR -7.50 -1.75

Ë$$gO&Ì 1.67 T7 Gray AR -7.50 -2.00

Ë$$gO.Ì 1.67 T7 Gray AR -7.75 +0.00

Ë$$gO6Ì 1.67 T7 Gray AR -7.75 -0.25

Ë$$gOHÌ 1.67 T7 Gray AR -7.75 -0.50

Ë$$gOPÌ 1.67 T7 Gray AR -7.75 -0.75

Ë$$gOWÌ 1.67 T7 Gray AR -7.75 -1.00

Ë$$gO_Ì 1.67 T7 Gray AR -7.75 -1.25

Ë$$gOgÌ 1.67 T7 Gray AR -7.75 -1.50

Ë$$gOyÌ 1.67 T7 Gray AR -7.75 -1.75



Ë$$gOÇÌ 1.67 T7 Gray AR -7.75 -2.00

Ë$$gP%Ì 1.67 T7 Gray AR -8.00 +0.00

Ë$$gP-Ì 1.67 T7 Gray AR -8.00 -0.25

Ë$$gP5Ì 1.67 T7 Gray AR -8.00 -0.50

Ë$$gPGÌ 1.67 T7 Gray AR -8.00 -0.75

Ë$$gPOÌ 1.67 T7 Gray AR -8.00 -1.00

Ë$$gPVÌ 1.67 T7 Gray AR -8.00 -1.25

Ë$$gP^Ì 1.67 T7 Gray AR -8.00 -1.50

Ë$$gPpÌ 1.67 T7 Gray AR -8.00 -1.75

Ë$$gPxÌ 1.67 T7 Gray AR -8.00 -2.00


